



File Number

Title

# City of West Allis Matter Summary

Status

7525 W. Greenfield Ave. West Allis, WI 53214

R	-2010-0124	Resolution		Intro	oduced		
		Resolution to approconcrete alley pave underdrain in vario	ement, storm sew	ver, storm sewer	relay, utility	adjustments and s	torm
		Introduced: 5/18/20	10	Cont	rolling Body:	Public Works Com	mittee
				Spon	sor(s): Public	: Works Committee	
			11	, /			
COMMITT	EE RECOM	MENDATION_	Adop	07			
	MOVER	SECONDER	/	AYE	NO	PRESENT	EXCUSED
ACTION	MOVEN	SECUNDER	Barczak	AIL	NO	PRESENT	EACUSED
DATE:			Czaplewski				
That			Kopplin				
118/2018			Lajsic				
			Narlock				
			Reinke				
			Roadt Sengstock	Eurod			
			Vitale	Three			
			Weigel	./			
			3	11			1
			TOTAL				
SIGNATUR	F OF COMM	ITTEE MEMBE	R				
SIGNATOR	1/13	- /	N.				
Hum	Afkers						
Chair		Vice-	Chair		Memb	per	
				ADOP	T		
COMMON	COUNCIL A	CTION		ADOF	•		
ACTION	MOYER	SECONDER		AYE	NO	PRESENT	EXCUSED
DATE:			Barczak	V			
	040		Czaplewski Kopplin				
MAY 182	010		Lajsic	2			
			Narlock			8 (65.5)	
			Reinke	-			
			Roadt				
			Sengstock				
			Vitale	7			
			Weigel				

TOTAL



## City of West Allis

7525 W. Greenfield Ave. West Allis, WI 53214

### Resolution

File Number: R-2010-0124

**Final Action:** 

Sponsor(s):

Public Works Committee

MAY 1 8 2010

Resolution to approve bid of D.C. Burbach, Inc. for the removal and reconstruction of the concrete alley pavement, storm sewer, storm sewer relay, utility adjustments and storm underdrain in various locations within the City of West Allis, in the amount of \$874,204.65.

WHEREAS, The Board of Public Works reports that it duly advertised for bids for the furnishing of certain materials and the performance of all work required for the improvements in a certain area as hereinafter described; that the bids received as shown on the attached bid report were reasonable and hereby recommends and deems it to be for the best interests of the City of West Allis that the bid of D.C. Burbach, Inc. for 2010 Project No. 3 be accepted.

NOW, THEREFORE, BE IT RESOLVED By the Common Council of the City of West Allis that the bid of D.C. Burbach, Inc. for 2010 Project No. 3 for:

removal and reconstruction of the concrete alley pavement, storm sewer, storm sewer relay, utility adjustments and storm underdrain in:

- 1. North/South alley between S. 61 St. and S. 62 St.: 226' North of W. Mineral St. to W. Mineral St.
  - PLAN FILE NOS. AP-414 & U-2498
- 2. North/South alley between S. 57 St. and S. 58 St.: W. Mineral St. to W. Washington St. PLAN FILE NOS. AP-415 & U-2499
- 3. North/South alley between S. 61 St. and S. 62 St.: W. Mineral St. to W. Washington St. PLAN FILE NOS. AP-416 & U-2498
- 4. North/South alley between S. 57 St. and S. 58 St.: W. Washington St. to W. Scott St. PLAN FILE NOS. AP-417 & U-2499
- North/South and East/West alleys between S. 57 St. and S. 58 St.: W. Burnham St. to W. Rogers St.
  PLAN FILE NOS. AP-418 & U-2500
- 6. North/South and East/West alleys between S. 55 St. and S. 56 St.: W. Rogers St. to W. Mobile Ave.

PLAN FILE NOS. AP-419 & U-2501

City of West Allis

- 7. North/South alley between S. 58 St. and S. 59 St.: W. Mobile St. to W. Grant St. PLAN FILE NOS. AP-420 & U-2502
- 8. North/South and East/West alleys between S. 64 St. and S. 65 St.: W. Grant St. to W. Lincoln Ave.

PLAN FILE NOS. AP-421 & U-2503

- 9. North/South alley between S. 69 St. and W. Stuth Pl.: W. Lincoln Ave. to W. Beloit Rd. PLAN FILE NOS. AP-422 & U-2504
- 10.North /South alley between W. Stuth Pl. and S. 71 St.: W. Lincoln Ave. to W. Stuth Pl. PLAN FILE NOS. AP-422 & U-2504
- 11.North/South alley between S. 74 St. and S. 75 St.: W. Becher St. to W. Grant St. PLAN FILE NOS. AP-423 & U-2505
- 12.North /South alley between S. 85 St. and S. 86 St.: W. Washington St. to W. Greenfield Ave. PLAN FILE NOS. AP-424 & U-2506
- 13.North /South alley between S. 73 St. and S. 74 St.: W. Washington St. to W. Madison St. PLAN FILE NOS. AP-425 & U-2507
- 14.North /South & East/West alleys between S. 72 St. and S 73 St: W. Madison St to W. Greenfield A

ADOPTED

MAY 1 8 2010

Paul M. Ziehler, City Admin. Officer, Clerk/Treas.

APPROVED

Dan Devine, Mayor

# City of West Allis 2010 Project No. 3 Bid Opening - 5/13/10

# **ALLEY RECONSTRUCTION**

- 1. N/S alley between 61-62: 226' N. of Mineral-Mineral

- N/S alley between 57-58: Mineral-Washington
  N/S alley between 61-62: Mineral-Washington
  N/S alley between 57-58: Washington-Scott
- 6. N/S, E/W alleys between 55-56: Rogers-Mobile 5. N/S, E/W alley between 57-58: Burnham-Rogers
- 7. N/S alley between 58-59: Mobile-Grant
- 8. N/S, E/W alleys between 64-65: Grant-Lincoln
- 9. N/S alley between 69-Stuth: Lincoln-Beloit 10. N/S alley between Stuth-71: Lincoln-Stuth
- 11. N/S alley between 74-75: Becher-Grant
- 13. N/S alley between 73-74: Washington-Madison 12. N/S alley between 85-86: Washington-Greenfield
- 15. E/W alley between 105-106: Oklahoma-Euclid 14. N/S, E/W alleys between 72-73: Madison-Greenfield

			Bid B	Bid Bond 5%	Bid Bond 5%	nd 5%	Bid Bo	Bid Bond 5%	Bid Bond 5%	าd 5%
			D.C. I	D.C. Burbach	Capitol Pavers, Inc.	avers, Inc.	LaLonde Cor	LaLonde Contractors, Inc.	Willkomm Excavating &	cavating &
			W228 N2762	W228 N2762 Duplainville Rd.	18005 W. Lincoln	incoln Ave.	2929 S. Chase Ave	hase Ave.	Grading, Inc.	g, Inc.
			Waukesh	Waukesha, WI 53186	New Berlin, WI 53146	WI 53146	Milwaukee	Milwaukee, WI 53207	17108 County Line Road	y Line Road
									Union Grove, WI 53182	, WI 53182
	UN.	UNITS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
tion	1,727	Cu. Yds.	\$17.95	30,999.65	\$19.80	34,194.60	\$20.92	36,128.84	\$25.20	43,520.40
g	820	Sq. Yds.	\$9.50	7,790.00	\$9.00	7,380.00	\$9.50	7,790.00	\$16.50	13,530.00
r Block Wall, Complete	470	Sq. Ft.	\$21.00	9,870.00	\$30.00	14,100.00	\$21.00	9,870.00	\$40.11	18,851.70
/Concrete Sawing	8,440	Lin. Ft.	\$1.40	11,816.00	\$1.50	12,660.00	\$1.39	11,731.60	\$1.37	11,562.80
Drive Removal	21,090	Sq. Ft.	\$0.52	10,966.80	\$0.45	9,490.50	\$0.62	13,075.80	\$0.65	13,708.50
emoval	340	Lin. Ft.	\$5.00	1,700.00	\$3.00	1,020.00	\$8.75	2,975.00	\$6.25	2,125.00
ent Removal	10,990	Sq. Yds.	\$4.75	52,202.50	\$4.48	49,235.20	\$5.78	63,522.20	\$5.60	61,544.00
crete Walk & Drive	15,480	Sq. Ft.	\$3.35	51,858.00	\$4.00	61,920.00	\$3.72	57,585.60	\$4.35	67,338.00
crete Walk & Drive	3,380	Sq. Ft.	\$4.00	13,520.00	\$4.10	13,858.00	\$4.70	15,886.00	\$4.25	14,365.00

9 7" Concre 8 5" Concre 6 Curb Re 5 Walk & D 4 Asphalt/0 3 Modular 2 Sodding

1 Excavati

7 Pavemei

1,010,371.30		960,415.24		884,334.58		874,204.65		1		Total	
18,500.00	\$18,500.00	20,075.00	\$20,075.00	2,000.00	\$2,000.00	28,000.00	00.000,82	Lump Sum	_	31 Traffic Control	
450.00	\$90.00	300.00	\$60.00	100.00	\$20.00	300.00	\$60.00	Units	51	30 Manhole Protection Barriers	
2,925.00	\$45.00	2,925.00	\$45.00	1,300.00	\$20.00	2,925.00	\$45.00	Units	65	29 Inlet Protection Barriers	
47,000.00	\$1,000.00	50,760.00	\$1,080.00	2,652.68	\$56.44	50,760.00	\$1,080.00	Units	47	28 Alley Type Catch Basins	
3,900.00	\$780.00	650.00	\$130.00	2,800.00	\$560.00	650.00	\$130.00	Units	Ŋ	27 Miscellaneous Storm Manhole Repair	3
520.00	\$260.00	400.00	\$200.00	520.00	\$260.00	400.00	\$200.00	Units	2	26 Abandon Catch Basin	
650.00	\$325.00	120.00	\$60.00	360.00	\$180.00	120.00	\$60.00	Units	2	25 12" Storm Bulkheads	
400.00	\$200.00	120.00	\$60.00	360.00	\$180.00	120.00	\$60.00	Units	2	24 8" Storm Bulkheads	
5,520.00	\$240.00	6,670.00	\$290.00	4,554.00	\$198.00	6,670.00	\$290.00	Vert. Ft.	23	23 3'-6" Dia. Storm Manhole Replaceme	
5,100.00	\$340.00	4,650.00	\$310.00	4,935.00	\$329.00	4,650.00	\$310.00	Vert. Ft.	15	22 3'-6" Dia. Storm Manhole (3)	
129,966.75	\$35.25	112,084.80	\$30.40	136,419.00	\$37.00	112,084.80	\$30.40	Lin. Ft.	3,687	21 6" Dia. Storm Underdrain	
82,118.40	\$37.60	72,945.60	\$33.40	98,280.00	\$45.00	72,945.60	\$33.40	Lin. Ft.	2,184	20 10" Dia. Storm Underdrain	
18,020.00	\$53.00	16,660.00	\$49.00	17,680.00	\$52.00	16,660.00	\$49.00	Lin. Ft.	340	19 12" Dia. Storm Sewer Relay	
20,981.10	\$216.30	13,580.00	\$140.00	13,580.00	\$140.00	14,550.00	\$150.00	Tons	97	18 HMA Pavement (Type E-0.3)	
551.25	\$5.25	472.50	\$4.50	525.00	\$5.00	472.50	\$4.50	Gallons	105	17 Tack Coat	
63,315.00	\$16.75	68,304.60	\$18.07	38,064.60	\$10.07	39,690.00	\$10.50	Tons	3,780	16 Base Aggregate Dense, 1-1/4"	
2,315.00	\$23.15	2,820.00	\$28.20	2,140.00	\$21.40	1,800.00	\$18.00	Tons	100	15 Crushed Stone Driveway	
2,409.00	\$7.30	2,894.10	\$8.77	1,650.00	\$5.00	1,650.00	\$5.00	Each	330	14 Pavement Ties	
14,960.40	\$1.37	9,718.80	\$0.89	14,196.00	\$1.30	9,718.80	\$0.89	Sq. Yds.	10,920	13 Joint Sealing	
334,152.00	\$30.60	344,962.80	\$31.59	327,600.00	\$30.00	312,312.00	\$28.60	Sq. Yds.	10,920	12 7" Concrete Alley Pavement	
9,520.00	\$28.00	10,217.00	\$30.05	10,200.00	\$30.00	6,443.00	\$18.95	Lin. Ft.	340	11 31" Concrete Curb and Gutter	
552.00	\$34.50	520.00	\$32.50	560.00	\$35.00	560.00	\$35.00	Sq. Ft.	16	10 Curb Ramp Detectable Warning Field	
TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	UNITS	U	ITEM	
, WI 53182	Union Grove, WI 53182										
y Line Road	17108 County Line Road	Milwaukee, WI 53207	Milwaukee	New Berlin, WI 53146	New Berlin	Waukesha, WI 53186	Waukesh				
g, Inc.	Grading, Inc	2929 S. Chase Ave.	2929 S. C	18005 W. Lincoln Ave.	18005 W. I	W228 N2762 Duplainville Rd.	W228 N2762				
cavating &	Willkomm Excavating &	LaLonde Contractors, Inc.	LaLonde Co	Capitol Pavers, Inc.	Capitol P	D.C. Burbach	D.C.				
nd 5%	Bid Bond 5%	Bid Bond 5%	Bid Bo	Bid Bond 5%	Bid Bo	Bid Bond 5%	Bid E	2			